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1 afnaflnsf 0 ;f]lg s'df/L ;bf zDe'gfy g=kf= % 2068.8.2 ;fn 76÷;Kt/L k'mn]Zj/L b]jL ;bf ÷ ;+ho s'df/ ;bf

2 afnaflnsf 0 xl/z+s/ ;bf zDe'gfy g=kf= % 2069.1.26 ;fn 32÷;Kt/L ;'lgtf b]jL ;bf ÷ k|df]h ;bf

3 afnaflnsf 0 b]j s'df/L ;bf zDe'gfy g=kf= % 2068.9.6 ;fn 97÷;Kt/L snf sd'f/L ;bf ÷ >j0f ;bf

4 afnaflnsf 0 ;+ud ;/bf/ zDe'gfy g=kf= % 2068.9.26 ;fn 44÷;Kt/L ddtf s'df/L ;/bf/ ÷ ;+ho s'df/ ;/bf/

5 afnaflnsf 0 s'Gbg s'df/ ;bf zDe'gfy g=kf= % 2068.9.1 ;fn 145÷;Kt/L ho s'df/ ;bf ÷ 7sgL b]jL ;bf

6 afnaflnsf 0 ;'dg s'df/L /fd zDe'gfy g=kf= % 2068.9.22 ;fn 50÷;Kt/L df]lgsf s'df/L /fd ÷ ;'Gb/ s'df/ /fd

7 afnaflnsf 0 l/t' s'df/L ;/bf/ zDe'gfy g=kf= % 2068.10.29 ;fn 208÷;Kt/L lzjfgL b]jL ;/bf/ ÷ g;'{ ;/bf/

8 afnaflnsf 0 ?aL s'df/L ;/bf/ zDe'gfy g=kf= % 2069.5.20 ;fn 53÷;Kt/L Og/ b]jL ;/bf/ ÷ e'nf ;/bf/

9 afnaflnsf 0 /f]zg s'df/ ;bf zDe'gfy g=kf= % 2069.6.26 ;fn 141÷;Kt/L clgtf s'df/L ;bf ÷ /ljg ;bf

10 afnaflnsf 0 d+h' ;bf zDe'gfy g=kf= % 2068.5.3 ;fn 42÷;Kt/L lgnd ;bf ÷ ljGb' ;bf

11 afnaflnsf 0 /fs]z  ;bf zDe'gfy g=kf= % 2068.8.23 ;fn 83÷;Kt/L ;'lgtf b]jL ;bf ÷ pd]z ;bf

12 afnaflnsf 0 ;'ljtf s'df/L ;bf zDe'gfy g=kf= % 2068.5.19 ;fn 47÷;Kt/L /lGhtf ;bf ÷ lht]Gb| ;bf

13 afnaflnsf 0 ddtf s'df/L ;bf zDe'gfy g=kf= % 2069.10.30 ;fn 8÷;Kt/L lhl/of b]jL ;bf ÷ g]jL nfn ;bf

14 afnaflnsf 0 cfo'if s'df/ /fd zDe'gfy g=kf= % 20700.1.7 ;fn 31÷;Kt/L ;'lgtf s'df/L /fd ÷ c/ljGb /fd

15 afnaflnsf 0 dlgiff s'df/L v+u zDe'gfy g=kf= % 2068.12.2 ;fn 29÷;Kt/L clgtf s'df/L v+u ÷ /fd]Zj/ v+u

16 afnaflnsf 0 ljj]s d08n zDe'gfy g=kf= % 2068.10.24 ;fn 95÷;Kt/L /fdk/L b]jL d08n ÷ /fh]Gb| d08n

17 afnaflnsf 0 hfgsL s'df/L /fd zDe'gfy g=kf= % 2068.8.9 ;fn 65÷;Kt/L d+h' s'df/L dx/f ÷ hfd'g /fd

18 afnaflnsf 0 zfGtL s'df/L /fd zDe'gfy g=kf= % 2069.9.2 ;fn 9÷;Kt/L d+h' s'df/L /fd ÷ hfd'g /fd

19 afnaflnsf 0 lgzf s'df/L /fd zDe'gfy g=kf= % 2068.12.25 ;fn 10÷;Kt/L ;+hf]luof b]jL df]rL ÷ lxse/g df]rL

20 afnaflnsf 0 lk|tL s'df/L /fd zDe'gfy g=kf= % 2069.6.9 ;fn 13÷;Kt/L dLgf s'df/L /fd ÷ sfzL s'df/ /fd

21 afnaflnsf 0 a'w;fu/ /fd zDe'gfy g=kf= % 2069.7.16 ;fn 15÷;Kt/L b|f}ktL /fd ÷ k|df]b /fd

22 afnaflnsf 0 ;/:jtL s'df/L d08n zDe'gfy g=kf= % 2068.11.15 ;fn 47÷;Kt/L clgtf s'df/L vTj] ÷ /fd]Zj/ d08n

23 afnaflnsf 0 ljzfn d08n zDe'gfy g=kf= % 2068.8.11 ;fn 90÷;Kt/L /fd s'df/L v+u ÷ Ogb| b]j d08n

24 afnaflnsf 0 cgsf s'df/L d08n zDe'gfy g=kf= % 2069.6.30 ;fn 78÷;Kt/L /fwf s'df/L d08n ÷ ;To gf/fo0f d08n

25 afnaflnsf 0 lgef s'df/L /fd zDe'gfy g=kf= % 2070.3.5 ;fn 51÷;Kt/L /fd s'df/L /fd ÷ a]rg  /fd
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26 afnaflnsf 0 cf/og s'df/ d08n zDe'gfy g=kf= % 2070.3.31 ;fn 52÷;Kt/L km"nf] b]jL d08n ÷ /fd clzif d08n

27 afnaflnsf 0 cfzf] s'df/L d08n zDe'gfy g=kf= % 2069.1.2 ;fn 51÷;Kt/L 3'/gL b]jL d08n ÷ lj/]Gb| d08n

28 afnaflnsf 0 lzjgGbg d08n zDe'gfy g=kf= % 2068.5.28 ;fn 15÷;Kt/L /fd s'df/L vTj]gL ÷ ;/jg v+u

29 afnaflnsf 0 lqm; ;/bf/ zDe'gfy g=kf= % 2070.4.4 ;fn 56÷;Kt/L kljqf ;/bf/ ÷ k|e' gf/fo0f ;/bf/

30 afnaflnsf 0 /fh]Gb| ;bf zDe'gfy g=kf= % 2070.6.9 ;fn 77÷;Kt/L sf/f] b]jL ;bf ÷ lu8d ;bf

31 afnaflnsf 0 cdg ;/bf/ zDe'gfy g=kf= % 2070.4.12 ;fn 67÷;Kt/L ddtf s'df/L ;/bf/ ÷ ;+ho s'df/ ;/bf/

32 afnaflnsf 0 ?aL s'df/L ;/bf/ zDe'gfy g=kf= % 2069.5.29 ;fn 53÷;Kt/L Og/ b]jL ;/bf/ ÷ e'nf s'df/ ;/bf/

33 afnaflnsf 0 ;'/h s'df/ ;/bf/ zDe'gfy g=kf= % 2068.7.27 ;fn 46÷;Kt/L ;Ltf s'df/L ;/bf/ ÷ ;'Gb/ s'df/ ;/bf/

34 afnaflnsf 0 k|]d rGb s'df/ ;/bf/ zDe'gfy g=kf= % 2068.8.7 ;fn 73÷;Kt/L ltlnof  ;/bf/ ÷ a]rg  ;/bf/

35 afnaflnsf 0 g]xf s'df/L ;/bf/ zDe'gfy g=kf= % 2070.10.2 ;fn 112÷;Kt/L ltlnof  ;/bf/ ÷ a]rg  ;/bf/

36 afnaflnsf 0 a]rgL s'df/L ;/bf/ zDe'gfy g=kf= % 2070.8.4 ;fn 78÷;Kt/L ;Ltf s'df/L ;/bf/ ÷ ;'Gb/ s'df/ ;/bf/

37 afnaflnsf 0 uf]ljGb ;bf zDe'gfy g=kf= % 2070.1.8 ;fn 54÷;Kt/L k'gd s'df/L ;bf ÷ t'/Gtf ;bf

38 afnaflnsf 0 lbks s'df/ v+u zDe'gfy g=kf= % 2070.7.28 ;fn 90÷;Kt/L aljtf s'df/L v+u ÷ x/]/fd v+u

39 afnaflnsf 0 ljef s'df/L ;bf zDe'gfy g=kf= % 2068.9.15 ;fn 58÷;Kt/L /fhf] b]jL ;bf ÷ /fd nug ;bf

40 afnaflnsf 0 cf/tL s'df/L ;bf zDe'gfy g=kf= % 2070.7.28 ;fn 01÷;Kt/L /tgL s'df/L ;bf ÷ lbk]Gb| ;bf

41 afnaflnsf 0 gGbgL s'df/L /fd zDe'gfy g=kf= % 2070.1.11 ;fn 75÷;Kt/L lhj5L s'df/L /fd ÷ /fdrGb| /fd

42 afnaflnsf 0 /f]xg s'df/ v+u zDe'gfy g=kf= % 2070.5.2 ;fn 76÷;Kt/L rg' sd'f/L v+u ÷ /fd s'df/ v+u

43 afnaflnsf 0 lhj5L d08n zDe'gfy g=kf= % 2070.4.12 ;fn 60÷;Kt/L nIdL d08n ÷ lj/]Gb| d08n

44 afnaflnsf 0 k'gd s'df/L d08n zDe'gfy g=kf= % 2070.4.4 ;fn 131÷;Kt/L ddtf s'df/L d08n ÷ Ogb| gf/fo0f d08n

45 afnaflnsf 0 z'idf s'df/L ;bf zDe'gfy g=kf= % 2069.11.20 ;fn 142÷;Kt/L b]j s'df/L ;bf ÷ lht]Gb| ;bf

46 afnaflnsf 0 gGbgL s'df/L ;bf zDe'gfy g=kf= % 2071.7.3 ;fn 142÷;Kt/L 3'/gL b]jL ;bf ÷ lj/]Gb| ;bf

47 afnaflnsf 0 cf/tL s'df/L d08n zDe'gfy g=kf= % 2071.4.25 ;fn 11÷;Kt/L km"nf] b]jL d08n ÷ /fdcl;; v+u

48 afnaflnsf 0 k'gd s'df/L d08n zDe'gfy g=kf= % 2070.4.4 ;fn 131÷;Kt/L ddtf s'df/L d08n ÷ Ogb| gf/fo0f d08n

49 afnaflnsf 0 cf/og ;/bf/ zDe'gfy g=kf= % 2070.10.26 ;fn 23÷;Kt/L sNkgf s'df/L ;/bf/ ÷ /fdrGb| ;/bf/

50 afnaflnsf 0 ;tLs ;/bf/ zDe'gfy g=kf= % 2071.7.27 ;fn 19÷;Kt/L sf}lznf s'df/L ;/bf/ ÷ Zofd;'Gb/ ;/bf/
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51 afnaflnsf 0 ;'l:dtf s'df/L /fd zDe'gfy g=kf= % 2071.5.20 ;fn ÷;Kt/L ;s'GtL s'df/L /fd ÷ /fd s'df/ /fd

52 afnaflnsf 0 nIdL s'df/L v+u zDe'gfy g=kf= % 2070.7.14 ;fn ÷;Kt/L hl;of s'df/L v+u ÷ dx]Zj/ v+u

53 afnaflnsf 0 k|]d s'df/ d08n zDe'gfy g=kf= % 2072.4.4 ;fn ÷;Kt/L k|ldnf d08n ÷ l;of/fd d08n

54 afnaflnsf 0 /fzL s'df/L ;/bf/ zDe'gfy g=kf= % 2071.8.11 ;fn ÷;Kt/L lzjfgL ;/bf/ ÷ a;'{ ;/bf/

55 afnaflnsf 0 hosfGt /fd zDe'gfy g=kf= % 2072.2.22 ;fn ÷;Kt/L lhj5L s'df/L /fd ÷ /fdrGb| /fd

56 afnaflnsf 0 cfsfz ;bf zDe'gfy g=kf= % 2071.8.27 ;fn ÷;Kt/L /fhf] s'df/L ;bf ÷ ?k]Gb| ;bf

57 afnaflnsf 0 cfgGb s'df/ d08n zDe'gfy g=kf= % 2072.3.1 ;fn ÷;Kt/L ;'lgtf s'df/L d08n ÷ lj/]Gb| d08n

58 afnaflnsf 0 ljsf; d08n v+u zDe'gfy g=kf= % 2073.5.3 30÷  v+u ÷  v+u

59 afnaflnsf 0 ;+Wof s'df/L /fd zDe'gfy g=kf= % 2072.7.8 20÷  /fd ÷  /fd

60 afnaflnsf 0 k|ltdf s'df/L ;bf zDe'gfy g=kf= % 2072.6.10 17÷  ;bf ÷  ;bf

61 afnaflnsf 0 lbkdfnf s'df/L ;bf zDe'gfy g=kf= % 2071.7.25 15÷  ;bf ÷  ;bf

62 afnaflnsf 0 nIdL s'df/L v+u zDe'gfy g=kf= % 2072.9.10 31÷  v+u ÷  v+u

63 afnaflnsf 0 lzjgGbg /fd zDe'gfy g=kf= % 2072.10.1 12÷  /fd ÷  /fd

64 afnaflnsf 0 nIdL s'df/L /fd zDe'gfy g=kf= % 2072.2.15 11÷  /fd ÷  /fd

65 afnaflnsf 0 l;4fy{ /fd zDe'gfy g=kf= % 2068.11.20 35÷  /fd ÷  /fd

66 afnaflnsf 0 lzjf d08n zDe'gfy g=kf= % 2073.5.8 29÷  d08n ÷  d08n

67 afnaflnsf 0 gGbgL s'df/L d08n zDe'gfy g=kf= % 2071.7.3 16÷  d08n ÷  d08n

68 afnaflnsf 0 cf/ Pg v+u zDe'gfy g=kf= % 2073.1.22 16÷  v+u ÷  v+u

69 afnaflnsf 0 bof/fd d08n zDe'gfy g=kf= % 2073.3.14 37÷  d08n ÷  d08n

70 afnaflnsf 0 lk|o+sf s'df/L ;/bf/ zDe'gfy g=kf= % 2049.4.1 116÷  ;/bf/ ÷  ;/bf/

71 afnaflnsf 0 ;+lutf s'df/L d08n zDe'gfy g=kf= % 2073.3.12 38÷  d08n ÷  d08n


